Pg. 84 1.8 — Combinations of Functions: Composite Functions

Sum: (f +g)(x) =f(xX)+g(x) Difference: (f —g)(x) =f(x)-g(x)
. _ it | £l 2 f0
Product: (fg)(x) =f(x)-g(x) Quotient: (gj(X) ax)

Composition: (f-g)(x)=f(g(x))

Ex 1:
f(x)=2x-5 g(x)=2-x
a) (F+9)(x) = b) (f-9)(x)=
f
c) (fg)(x) = d) (EJ(X):
Ex 2:

Use the graphs of f and g to graph h(x) = (f + g)(x).
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Ex 3:
f(x)=x"+1 g(x)=x-4

a) (f-0)(-1) b) (f+9g)(t-2)

Ex 3:

f(x)=3x+5 g(x)=5-x
a) fog b) gof C) fof
Ex 4:

Find the domain of each function and each composite function.
f(x)=/x+4 g(x) = x?

Note: The domain of the composite function is the combined domain of
the function being inputed along with the new function.

a) f b) g

c) feg d) gof
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